
































Texas Open games

John Readey and Eugene Curtin
tied for first at the Texas Open,
held Oct. 19-20 in Austin (see page
30 for crosstable).

OGD Tarrasch D34
Joe Binder 2000
Eugene Curtin 2367
—— Texas Open 1996 (1)

1.Nf3 Nf6 2.c4 e6 3.g3 dS
4.Bg2 ¢S5 S.cxdS exdS 6.d4 Ncé
7.0-0 Be7 8.Nc3 0-0 9.dxcS BxcS
10.Na4 Be7 11.Be3 Ned 12.Rcl
Qa$s 13.Nd4

Alekine and Capablanca both
played this move, but the most
accurate is 13.a3! preparing Nc3.

13...Bd7

13...Nxd4 14.Bxd4 Be6 15.f3
was played in Alekine-Euwe, match
1937, and now 15...Nd6! = was best.

14.Nc3?

Losing material. Old analysis by
Levenfish gives 14.Bxe4 dxe4 15.
Nb3 Qxa4 16.Qxd7 Qxa2 17.Qxb7
Rab8 18.Qxc6 Qxb3 19.Bxa7 Rb4 =.

14...Nxc3 15.Rxc3 Qxa2 16.
Qb3 Qxb3 17.Rxb3 Bf6!

Adequate but passive by compar-
ison is 17...Nxd4 18.Bxd4 Bc6.

18.Rxb7 Bc8 19.Nxc6

Not much better is 19.Rxf7!?
Rxf7 (not 19...Nxd4? 20.Rxf6! %)
20.Nxc6 Be6 21.Rd1 Bxb2 -/+.

19...Bxb7 20.NaS Baé6 21.Bxd5
Bxe2

Or 21...Rad8? 22.Bc4! and White
keeps all the marbles.

22.Rel Rad8 23.Bxf7+ Rxf7 24.
Rxe2 Rc7 25.Nb3 Rd3 26.Na$s
Rd1+ 27.Kg2 Rbl 28.b3 Bc3 29.
Ra2 Ral 30.Rxal Bxal 31.Nc4
Bc3 32.Kf3 a6 33.Bb6 Re7

34.Ne3?

This lets go of the b-pawn too
easily. Better is 34.Be3 Rb7 35.Bb6.
If 34...Rd7 then 35.Ke2 Rd5 36.Bd2.

34...Re5 35.Nd1 RbS 36.Nxc3
Rxb6 0-1

Notes by FM John Readey

Sicilian Alapin B22

John Readey 2355
Josh Newsham 1948
——— Texgs Open J990(])

l.e4 ¢S5 2.c3

I think the Alapin is a good line
for those of us who don’t have the
time to follow all the theory of the
open Sicilian.

2...Nf6 3.e5 Nd5 4.d4 cxd4 5.
Nf3 e6 6.cxd4 Nc6 7.Bc4 Nbé6 8.
Bb3dS

The game now takes on the ap-
pearance of a French Defense.

9.Nc3 Be7 10.0-0 Bd7 11.Qd2

12

Rote development probably
won’t put Black under any great
pressure. The idea of Qd2 is to pres-
sure Black’s kingside after Qf4.

11...h6 12.a3 Rc8 13.Qd3

Since Black has weakened his
kingside with ...h6, now the Qd3/
Bc2 formation will be strong.

13...Na$ 14.Bc2 Nac4

Black’s knight dances around for
a few moves, but it will soon re-
turn to c6.

15.b3 Na$S 16.Bd2 Nc6 17.Ne2
a6 18.Nel Na7 19.a4 Nc6

It looks like Black will at least
have the b4 square for some breath-
ing room, but . . .

20.Qg3 Kf8

T Ii o

21.Nd3!?

... now the Nd3 covers b4.

21...Nxe5S

Otherwise Black will face stran-
gulation.

22.NxeS Rxc2 23.Bas

Black has won a pawn, but the
opening of the game favors White’s
more active pieces. If 23...Rxe2 24.
Bxb6 QeS8 25.Qf3 Rc2 26.Ngb+ +-.

23...Be8 24.Qd3 Rxe2?

For better or worse, Black had
to play 24...Rc8. I thought White
should have good play given that
the Rh8 is out of play, but there
doesn't appear to be any forced win.
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